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Statistical Quality Control & Accepting Sampling - Il .

Note: Calculator and Statistical Tables are allowed.
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-atistical Quality Control & Accepting Sampling - I

Note: Calculator and Statistical Tables are allowed.

Que. 1(A)  What is C-Chart? How will you Construct it? 7
Construct C-Chart from the following Information. 7
Unit Number 11203 /4[s]6]7]8]9]10
No. of Defective Units | 5 |7 '3 [2 0427 0] 11
OR
Que. 1(Al} State Uses of C-Chart. 6
(A2) By Inspecting 50 pens every day continuously 12 days following defective pens found 8
as bellow. Construct C-Chart using the following data.
Day 1]2]34|s]6[7]8]9]10[11]12
No. of defectivePens |4 |82 |1(6|6(8|7|5/2]9](3
Que. 1(B) Answer the following.
1 Which of the following Graph is used to show proportion of defective piece? 1
! (a) | p-Chart ‘ (b) ] C- Chart | () [ np- Chart J (d) | None of the abovﬂ
2 Which of the following Control Limit is Upper Control Limit of C-Chart? 1
(@] c-3/c|®][CT-3vC[© [c+3/T] (& ][C-3VC |
3 Chart Shows proportion of defective. 1
‘ (a) I C-Chart | (b) } np-Chart I (©) [ p-Chart I (d) i All of the above—l
4  Which of the following Chart is Variable Control Chat? 1

[ (a) ‘ R-Chart I (b) I C-Chart ( (c) I np-Chart | (d) ‘ None of the above ‘
Que. 2 (A)  Which sample is said to be a good sample? State its characteristics. State advantages of 14
sampling.

OR
Que.2(A1) 4,7, 3, 2 are observation of a set. How many samples can be drawn with replacement 7
and without replacement of sample size 2 using observation of a set? List all possible
samples.
(A2)  Explain difference between Population Investigation and Sample Investigation. 7
Que.2(B) Answer the following. (Any Four)
1 What is Population Investigation?

2 What is Non Sampling Error?
3 What is Simple Random Sampling?
4 What is Sample Investigation?
5 What is Sampling Error?
6  What is Stratified Sampling?
Que. 3 (A) Write a note on Producer's Risk and Consumer’s Risk. 8
Explain the given Sampling Scheme. (N=2000, n=100, C=3) 6
OR
Que.3 (A1)} Explain Difference between Stratified sampling and Simple Random Sampling. 7
(A2) State advantages of Acceptance Sampling Scheme. 7

Que.3(B) Explain the terms. (Any Three) (1) AQL (2) ASN (3) Producer’s Risk (4) Consumer’s Risk 3
Que. 4 (A)  Write a note on Acceptance Sampling plan. Explain meaning and importance of AQL 14
and LTPD of Acceptance Sampling plan.
OR
Que. 4 {Al) Write Note on OC - Curve. 7
(A2) For sampling scheme of N=1000, n=100, C=2; AQL = 0.01 and LTPD=0.07 then find 7
Consumer’s Risk and Produce’s Risk using Poisson Distribution.
Que. 4 (B) State Full Form of the following term. (Any Three) (1) AOQL (2) OC (3) LTPD (4) ATI 3



